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A crrcle has a rads of O9m 204 & aas ol
A sector of the circle has a central angle of m TR PR~
=y —‘S—hhﬁﬂ“f,.ﬂﬂf_“h—-ﬂ!
o

e
Find the area of the sector

3 s e Y dda) o
Round your answer 1o the nearest tenth roromef 4

Answer [ ) @ Ada¥)
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The hesghl, A1), n cm. of a prston, 1S grven el s b (1) 5:;.,.*:-._:..1-...11.1.1...:

by the equabon below where | represents RO T PEVEERE - T VY JOVA

the number of seconds since the

measwraments bagan

hit)= lzcus[%:)mt 8
At what values of 1 1o the e ot N
nearest lenth of a second, does S A ALD
hit) =0 hit)=0
C Jand(__)

e sl
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u.-ur--l'n._..u..n.l-.-l‘:unq.__..y In right triangie ABC hypotenuse AF has a AR gy Jes s ABC duy @ il LD g
PR il e & U TAEL ri bl P —n o —
length of 26 om, and side 5C has a length of ,17.6cm » BC alusll Joby « 26cm
176 cm e v fiBlgy Al
What s the measure of angle B o the
nearesi degree?
m’
47"

3.‘1-

43
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Convert 12°26'55" 1o a decimal number of
degrees.

Al bl A e D 12°26°55" O
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Hcosix)>0, csc(x) <0, m whach

& Bl 2 w05 (%) >0, c5c(x)<0 S

wnm:ﬂmq?ue-sﬂmmmaui XAy A e adall A ads gl
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Jj‘f‘:fﬁ'..
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i S cos 3x
lim
r=plan ¥ +4 + 5in3 x

1|=--|n.1'11
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Smeﬂu[-{i.v]snmn
quadran! IT ywng on the wnt crcle

Find y

5[-1’;3_.*,]1.'..&_-..1%“,“;;_,.

P
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[x.——J;—L]rsapmntmquadlmwm Jlmﬁ"ﬁﬁ(r.—g)mé
on the unit circle o
Find x2 x4 =

0
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in a nght tnangle the acute angles have the Ul sl g ol ol g b and S

redahonshp shown below n the eguaton o

What is the value of x7 Mdad Aoy Ly
T i s

sin(2x + 4)=cos (46)

23

24

22
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il x =cos(r) and y =s5inlt) are parametnc widas y=sin(t) 3 x=cos(t) <iS13
equations, where 0 < [ < m then Mt gm sl

cos(t) sin(t)

- cotlr)

!‘ - tan(r)

- coslt) sinlt)
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Find the value of the funchon below

tan~ (1)

i
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Find f'{x) when f{x)}=sin(in{2x))

flx) =sin(In(2x)) wis f{x) sy

sin(in(2 x))
2x

cos{in(2x))
LS

cos{in(2x))
2x
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What is the area under the graph of Jid o155 pmnad i Galens o L
v =flx) = x*cos(x*) and above the interval X smaly y=flx)=icos(x?) Jiud

6, = [0, w) 5 Je A0

imon .

! 2
= 5in{r<)

—sin(n?)

b |
) i i
- cos{nm®)

= cosin?)
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Find the value of the limit balow

ien 7x —sin{x)

=0 x° #5in(3%)
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Find the anti-genvative of the function A0l (RlaD D) k) 2 g
fie)=e®*+sec’s fig)=e* + socB
e¥ + 25ecotand + ¢

I8 +co5 8 +¢

e? stand v c |
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v fl8) sind) 5 o= f]§) cosl) <l @
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The second derivative of the function N is i) Ss e b B ADD D B
Tamatts sooons tiamanumr  SHOWN below i
h™"(x)=2""" 4 cos x4 x
For what open intervals is the graph of n LA i e S e e e g

concave up when -5 < x < 57 ¢ xSl

vstrf—‘ﬂ‘ﬁm -|

[ 5<x<0463an0 2100 < x5 '}

P —_— —

F 0.463 < x < 2 100 only

[ -1.016 < x < 5 only
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é Which graph represents the function o fx)= =sinx DI T o0 M g
j= =siny nthe inlérval -msr<sm?
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What is the degree measure of f = —

O A. =27
O B. —16
0 C.0
U D. —4
O E. 2

20

—rw e ———
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What is the radian measure of # = 216°7

0 A.
0 B.

L C.

O D.

O E.

1087
O

6
6

5
8w

9
4w

9
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Find the smallest positive angle coterminal with —980°.

0 A. 100°
L1 B. 820°
[ C. 460°
O D. —-260°
0 E. —620°

—rw e ———



. TRIGONOMETRY |

~
it P T ol sl

DA i vl A § 5 TR b R P T—

10
Given sina = 1£* find the exact value of sec a.

] A.3

O B. 110

\

-
-

NE

-

O C.

[—
=

L D.

O E.

| S
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Find the exact value of

O A. 2
LI B.1

1
I:IC'.—‘.:j

i

O D.
O E.0

o | -

1

1

sec? 32°

+

csc? 320

—rw e ———
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) T T
Find the exact value of cos e cot —.

1

3
DA'E

I:IB.—E

2

1
DC'E

D]Z?L—~l

2
OE.0
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Find the exact value of csc(—420°).

2
DA.—g

[:l]?..%E

0 C. 2
O D. -2
O E. 2V3

—rw e ———
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From a distance, an observer estimated that the angle of elevation to the top of the mountain is 35°. The
observer moved M0 meters closer to the mountain and estimated the angle of elevation to be 47°. How tall is
the mountain? See figure below.

O A. 2506 m
0 B. 1816 m
0 C. 38l m
O D. 640
O E. 630 m
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If (=5.11) is a point on the terminal side of an angle # in standard position, find the exact value of sec#

[ =

- |
OA -3
L
o]
D G* _iﬁ
1
ulf

5
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Find an appropriate function for the following graph:

L
:

2 1 TN
/—\ /\ I /\ /
T + T T LY f —= I
—fr - 4= Az —2= —-\/ 2= 3\II/‘T G
B
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Formulas

‘ALGEBRA \

Exponential Equation:

l ‘- ‘n'l'i

r ks the annual growth/decay rate; r < 0,decay r > 0, growth

t is time in years

Agis amount present initially (present value)

A is the target value (Future value)

Compound Interest Equations:

Compound interest: A r(1 i ;r
Continuowun compound interest: A Pe"

P - present value

A = future value

r ~ annual interest rate

r =~ time in years

n~ frequency of compounding per year
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Formulas

rithms:
1 x=logyA = b*=A

2 logx = log,s x

3| Inx= logx

Inx = log.x

logs(AB) = log,A + log,B
log, G) = log,A — log,B

log, A" = p log,A
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Formulas . .. numbers:

—

= y=]
SERIES:
niay, +ay)
Aritmetic Gy =a; +(n-1)-d e S—
P (T

l!.-r.l,'l"“l sﬂ-_.‘ {=-r

(a+b)" = Ca™b®+ C,a""'b'e C;a™ b

- * gy a’ " "

n! (a+b)" = Z wCet™ """
e -rT{n-r]! forr=012...n re0
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Formulas

ALGEBRA

fhnf[nﬂl‘ n-muun st ww Auow she folving:

1 il::r = ¢ for any constani ¢

2 |lmx=e

3 | limif(x)+ pix}] = lim f(x) + lim gix)

4 | limlfis) - g(x)] = bim f(x) ~ im g(x)

5 Etf:rgﬂ:.h”d’ﬂr_ﬂﬁlt

| 6 | lomlrCadgtl = tim f(x) - dom i)

&! ftm [(x)

i'r:ﬂ:}- HH!I' as lomg s El-:ﬂl'l ald

8 |t = [ s for wny posivive integer n

o /7T = “Iyg_n-}
for any poaitive indeger n (if w is soen, Dhen l-tl:ﬂlm b poainive |
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Formulas

‘ ANALYTICAL ENGINEERIN GI

Conics:
Destance d = J(xg = 1) 4 (yg = ;)
'm {"I;:I.rl';rl] 1
- k- — e |
| Crcle (=R 4+ (y = k) =
[ st Mo A | et Mg Ay T
(x — k)* = 4p(y - k) (y = k)* = 4p(z — k)
Vertex [h, k) Vertex (hi)
Fooun: (b, kep) Focus: [hep, K}
Direcrm: y=k - p Dwectra: ¥=h - p
Standard form B2 , O=4F _ Standard form 2 4 0
Cantor: (A, K) - » Canter: (k. k)
Elpse Vertees: (h + ¢ k)where ¢ = g + b Fﬁtﬂ?{hltr}ﬂtﬁr.‘{r
mf;'““‘*"t” Endpoints of minor axis: (h £ b, k)
) Fock (k& £ ¢)
i ] i 1
=P -ty AP (p-Ap
klﬂhml'um:w'—._-l-vf?-zl wm-%-%-l
Certer: (A k) Cantar: (b k)
o Vertices: (A £ a, k) Vertoes: (A k £ a)
Foci: (A k £ c) where ¢ = g + B Fock (A k + ¢) where c® = a® + M
Traniverse aun: y = k Transwerse anis. 1 = K
Asymptotes: y = 4 = (x ~ ) + & Aspmptotesy = & (x - k) + &
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Formulas

Vectors:

| ANALYTICAL ENGINEERING

v=al+bj

i is the terminal point (1, 0)
i } is the terminal point (0, 1)
u has initial point (x,, y;) and terminal point (x;,
y:)

u =[x ali+(ya-vi)
v has initial point (x,, y:) and terminal point (x;,
vzl

vE(X; =X . ¥:—¥ )

magnitude of a vector v = ai + bj is given by the

formula
vl = vaf + b2

i

Dot product vectors:

-':”:“1“1*5151
u=a,l+bjandw=azl+b,J
u = (a, b, }ﬂﬂd#‘{ﬂ:,b;}






